SIL.VERSTONE®

Designing Inspiration

NITROGON
HELIGON SsERIES

MANUAL



NITROGON/HELIGON sEeERIES

The following manual and guides were carefully prepared by the SilverStone
engineering team to help you maximize the potential of your SilverStone product.
A copy of this manual can also be downloaded from our website at:

http://www.silverstonetek.com

COMPONENTS LIST—mm P.2
INTEL P.3
AMD P.9©
FAN MOUNTING —m4M8M—— P. 15

1]



NITROGON/HELIGON sEeERIES COMPONENTS LIST

\ P
I X ) 2 ) : § e
7 . 4 i . . e
’ im0, = J i I
Fan clip Back plate Square spacer Crossbar INTEL clip
\
firrm =
Ll ; —~ ‘
AMD clip Nuts Stand-off M3.5*30 screws M3*6mm screws
Insulation sheet Thermal grease LGA2011 screws



NITROGON/HELIGON sEeERIES

ENGLISH

Please check the hales of motherboard before
installation and insert the screws M3.5*30 into
the correct holes of back-board.

*Please insert the square spacer into the centric
hole of back-board with EGA775 installation only.

DEUTSCH

Uberprufen Sie die Lochfuhrungen des Mainboards
vor der Installation und setzen Sie die Schrauben
M3.5*30 korrekt von unten durch die Backplate.
*Setzen Sie bitte nur bei dem Sockel 775 die
Schraubbegrenzungen zentrisch auf die
Lochfuhrungen der Backplate.

FRANCAIS

Repérer les trous de fixation de la carte mére
avant l'installation, puis insérer les vis M3.5*30
dans les trous de fixation correspandant sur la
plaque arriére. *Seulement dans le cas d'une
installation pour Socket LGA 775, veiller a
disposer le carré de mousse au centre de la
plaque arriére.

ESPANOL

Por favor, seleccione los agujeros adecuados
de la placa base, antes de realizar la instalacion,
ainserte los tronillos M3.5*30 en el lugar correcto.
*Utilice el espaciador cuadrado en el centro del
anclaje, Unicamente cuando se trate de socket
LGAT775.

ITALIANO

Controllare i fori della scheda madre prima
dell'installazione ed inserire le viti M3.5x30 nei
fori corretti della piastra.

*Inserire il distanziale quadrato nel foro centrale
della piastra solo con l'installazione LGA775.

INTEL

PYCCKUA

Mepen ycTaHoBKoW Kynepa npoBepbTe U BbiGepute
COOTBETCBYIOLIME OTBEPCTHA Ha MaTEPUHCKOM nnaTe
v npoeeauTe BUHTBLI Tvna M3.5*30 k COOTBETCBYIOLLIUM
OTBEPCTUSIM MOHTEMHOW MITACTUHBI.

*YcTaHoBMTE KBafpaTHbI BKNaAbIW No cepeanHe
MOHTaxHoW nnactuHel (ans INTEL Tonbko).

P

EEEIRERMER®T, SBAERCPUTEREUAN
R HE RO FLAL: R HELGATTS E4RES, ZBEAE AR
BN AOFL, LGA1155/1156/1366 EHRBI T TE.

P

HEERERREAE. FIRIERCPUT & LB
R R B FLAL ; R FELGATTS E4RES, BB
HWENEHRFOFL, LGA1155/1156/1366 EHRM T HE.

B=x
A VR F—ILOBIZTH— FORE LT,
M3.5430% C%&/Nw Y TL— bDRIZELKELT
<FEZEW, #EATTED A R b—ILIZDFA, AR
R—Y—% Ny TL— LtOPLORIZEEFLT
<fEEL,

# = of

X Ml HeRES RYS &
LIAIS B E ol SHlE 2l
*Ab2t AHIOIME LGAT750 &
FHO DNRYAL.



NITROGON/HELIGON sEeERIES

ENGLISH

Install the back-board set onto the motherboard

and slip on the standoff.

DEUTSCH

Installieren Sie die Backplate auf der Mainboard
Unterseite und ziehen Sie die Abstandshalter von
oben uber die Schrauben.

FRANCAIS
Installer la plaque arriére sous la carte mére
et y apposer les entretoises.

ESPANOL
Coloque la sujecioén por detras de la placa
base y deslicela sobre los tornillos.

ITALIANO
Installare la piastra sulla scheda madre
ed installare il distanziatore

INTEL

PYCCKMA
3aKpenuTe MOHTaXHYI0 NNacTuHy
K MaTepuHCKOM nnate.

e

A EMABFENERFLLL, BN dpcsBIFHEEE .

[fushd

BERBHFRENEWTLAL, B docsEIEEIE.

B %A
IP—R—FIZv s TL— bty bESI R
F= LT RAR—Y—D L] BLET.

|
WEC HES NS SXcHD AHER
S10A DI&AI.

Il

(4]



NITROGON/HELIGON sEeERIES

*XLGA2011

XLGA775/115X/1366

[s]

ENGLISH
Mount LGA201+ and INTEL clips and
tighten the nuts.

DEUTSCH

Setzen Sie die LGA2011 und Intel Clips auf
die Schrauben und verschrauben Sie diese
mit den Schraubmuttern

FRANCAIS
Monter les plaque de fixation pour processeur
LGA2011 et INTEL, et serrer les écrous.

ESPANOL
Monte los clips de LGA2011, INTEL y
ajuste las tuercas.

ITALIANO
Installare i dispositivi di fissaggio LGA2011
ed INTEL e stringere i dadi

INTEL

PYCCKMM
YCTaHOBUTE NHTENOBEKME 3aKUMbI 1
3aKpenuTe BUHTI.

BFENINTELINR, AF4FRIRA0IRRSEHEREIE.
BENLGA201 18244 % INTELINEL, 154FH4924%
JERFEHERE

L1208

FENINTELINE, (F45B LIRS $H7 R EIE
FENLGA201 18224 2 INTELINEL, JG4FiagsL
[l:SEa gz

SR
L6A2011 & INTELY 1) TEERY 14T
T rERHOET.

# = of
LGA20111H INTEL 22 &6t HES
ZOIAAIR.



NITROGON/HELIGON sEeERIES

4.

ENGLISH

Please clean the surface of CPU before
applying the thermal grease and then apply
the Thermal grease evenly on CPU.

DEUTSCH
Reinigen Sie bitte die Oberflache der CPU bevor
Sie die Warmeleitpaste gleichmaRig auftragen.

FRANCAIS

Nettoyer la surface du CRU avant d'appliquer
la pate thermique, puis appliquer la pate
uniformément sur le CPU.

ESPANOL

Por favor, limpie la superficie del microprocesador
antes de aplicar la pasta termica. Una vez limpio,
apliquela de manera uniferme sobre la CPU.

ITALIANO

Pulire la superficie della CPU prima di applicare
la pasta termica e quindi applicare pasta termica
in modo uniforme sulla CPU

INTEL

PYCCKMA
Ha ounwienHyio noeepxHoCTL Apoueccopa
PaBHOMEPHO HaHecuTe Tepmariacty.

e

M5 EAECPUZRTE

#5253

P2

5 SAE SR IECPURT .

B *x &
Y—INT Y REE DR, CPUDKREZHRIS
LT, CPULITH—R LT YREH—IZEYET,




NITROGON/HELIGON sEeERIES

Please remove
before install

ENGLISH
Take off the film of CPU surface and
place heat-sink on CPU.

DEUTSCH
Ziehen Sie die Schutzfolie des Kiihlers ab
und setzen Sie diesen auf die CPU.

FRANCAIS
Retirer le film plastique du coté CPU du
refroidisseur et le disposer sur le CPU.

ESPANOL
Quite el adhesivo protector de la base
del disipador y coloquelo sobre la CPU.

ITALIANO

Togliere la pellicoia dalla superficie della CPU

e collocare il dispersore di calore sulla CPU

INTEL

PYCCKMA
CHUMUTE 3aLLMTHYIO [NACTUHKY C HKHER YacTu
pazauaTopa 1 ycTaHosuTe Kynep Ha npoLeccop.

4L

HiiE B A BE IEAMRGERE AR, AR A ECPURRRT.

A P32

i B ER IRABRIANGAE,  FRIG A SR IR ECPURR 8]

B *x &
CPURED 7 A LLERMNLT, E—F 2D %
CPULICERELFEY .

|
CPU EBIo| BES HJ{LiD $BE CPU
20 Z2MAIR



NITROGON/HELIGON sEeERIES

ENGLISH
Install the crossbar through heat-sink and
lighten the screws on the both of clips.

DEUTSCH

Nehmen Sie den Querstrebe und setzen Sie
diesen wie im Bild angezeigt auf die Oberseite
des Kuhlers und verschrauben Sie ihn fest auf
beiden Clips.

FRANCAIS

Utiliser la barre transversale au milieu du
dissipateur et serrer les vis des deux cotés
of clips.

ESPANOL
Colocado el clip de montaje, atornille las roscas
en forma de T en los tornillos estriados.

ITALIANO

Installare la traversa attraverso il dissipatore
e stringere le viti su entrambi i dispositivi di
fissaggio.

INTEL

PYCCKMA
MpoBeawTe Nnakkn Yepes ocHoBy paanaTtopa
1 3aKpenuTe BUHTaMu K 3aX1Mam.

4L
AT IR A
HRIE, B

o AAEE LI ERES
SR SR MK SR B

12D 8
BEFHEIHNR, FELET NS
PIELE, A LR BN

B %A
E—FIUHEIZORRN—FA VR =)L
LThis, AADT Yy TOXRTEMDET .

|

O2AHE SSHs 2S5 EXIE =
LIALE & 2E0 Z0I8AIR




NITROGON/HELIGON sEeERIES

ENGLISH

Please check the hales of motherboard before
installation then insert the square spacer into
the centric hole of back-board and attach the
insulation sheets on the back-board. Insert
M3.5*860 screws into the comrect hales of back-board.

DEUTSCH

Uberpriifen Sie die Lochfiihrungen des Mainboards
vor der Installation und kleben Sie das rechteckige
Isolations pad zentrisch Uiber der rechteckigen
Aussparung der Backplate. Setzen Sie die M3.5*30
Schrauben in die korrekten Lochfiihrungen der
Backplate wie abgebildet.

FRANCAIS

Repérer les trous de fixation de la carte mére
avant l'installation, puis insérer les vis M3.5*30
dans les trous de fixation correspandant sur la
plaque arriére.

ESPANOL

Por favor, seleccione los agujeros adecuados
de la placa base, antes de realizar la instalacion,
¥ coloque el espaciadeor cuadrado en el agujero
del centro de la sujecion. Pegue los adhesivos
de aislamiento en las esquinas de la sujecién

insertando los tornillos M3.5*30 por su parte trasera.

ITALIANO

Controllare i fori della scheda madre prima
dell'installazione, quindi inserire il distanziale
quadrato nel foro centrale della piastra e collegare
i fogli isolanti sulla piastra. Inserire le viti M3.5x60
nei fori corretti della piastra.

AMD

PYCCKUA

Mepen ycTaHoBKoW Kynepa npoBepbTe U BbiGepute
COOTBETCBYIOLYNE OTBEPCTUA HA MAaTEPUHCKON nnarte,
3aTem yCTaHOBUTE KBaAPaTHLIN BKNaAbILW Mo cepeanHe
MOHTaXHOW NIIACTHHbI U MPUTIGKNATE 3ONSLIMOHHBIE
Bknaabiwu. MNposeavTe BUHTLI Tvna mM3.5*30 k
COOTBETCBYIOLIVM OTBEPCTUAM MOHTEXHOMN NAaCTUHbI.

e
EEEREMRMERE, BALRBIR, 545085
Bh R BARE B, BTN R LA

L1208
WESIRERMERAE. EASHEN, 54K 6%
W F ARG R, BPRRFF AR R a0 LT

B % &

A VR L—ILORIZTF—R— FOREHEBLT.
BRAR—Y—F/Ny I TL— bRDLORIZEFL.
Ny FL—+Lk B— b ERERICRY FITES,
M3.5+60% U &/\v & FL— bORIZELLELTKC
EEL.

|

X MOl HAEES FHS SHIGHD AR
AHOIME HECS S 20l N2 = 2
5+60 LIAS

NES MBE| LEFYAL. M
wBCSo SHE R0 NP



NITROGON/HELIGON sEeERIES

2.

ENGLISH

Install the back-board sef to the motherboard
and slip the piltars.

(Remove the original AMD back-board)

DEUTSCH

Installieren Sie die Backplate auf der Mainboard
Unterseite und ziehen Sie die Abstandshalter von
oben Uber die Schrauben.

{Entfernen Sie die Original AMD Backplate)

FRANCAIS

Installer la plaque arriére sous la carte mére et
y apposer les entretoises.

(Retirer le cadre de fixation AMD d'origine)

ESPANOL

Cologue la sujecion por detras de la placa base
y deslicela sobre los tornillos.

(Retire la sujecion original de AMD)

ITALIANO

Installare la piastra sulla scheda madre ed
installare i sostegni

(Rimuovere la piastra AMD originale)

AMD

PYCCKMA

3aKpenuTe MOHTEXHYIO MNacTUHY K MaTepPUHCKOI
nnare.

(Ynanute opUriHnbHYI0 MOHTaXHYt0 nnactuHy AMD)

4L
T ERAR M BN EARFLAL G& EARA RANARFES) ,
E NdpcsEIHEEE -

L1 b 8
BB E LA AR F RN B ,
E N dposEHEE.

B *x &

IPF—R—FIZRv s TL— bty bES VR b—
MLT. RAR—HY—DEITRELETS.
(GTOAMD/Sy 7 TL— FEERY S LT ELY)

# = of
HEC MEE HoZES0 XI5t JISS 0IAAIL.
(2ehel AMD HESZ HIHA)




NITROGON/HELIGON sEeERIES

ENGLISH

Combine the AMD and INTEL clips with
M3*8 screws then insert the clip set onto
the back-board and tighten the nuts.

DEUTSCH

Verschrauben Sie die AMD und Intel Clips mit
den M3*6 Schrauben, setzen Sie diese dann
auf die Abstandshalter wie auf abgebildet und
ziehen Sie die Muttern fest an.

FRANCAIS

Combiner les clips de fixation AMD. et INTEL
avec les vis M3*6. Puis insérer les clips dans
les vis de la plaque arriére et serrer le tout avec
les écrous.

ESPANOL

Combine los clips de AMD y los de INTEL con
los tornillos M3*6, después inserte el conjunto
en la sujecion y fijelo con las tuercas.

ITALIANO

Unire i dispositivi di fissaggio AMD ed INTEL
usando viti M3x6, quindi inserire i dispositivi
di fissaggio sulla piastra e serrare i dadi

AMD

PYCCKMA
CosmecTute kombuHauuio saxwmos Intel » AMD
C BUHTaMU U 3aKPEMNTE HA MOHTAXKHOI MacTUHE.

4L

HSAMDIN BB INTELIN REH S R Bt 424T,
AT IR EE .

[R5 8
FEAMDIN R 5 INTELINE $i &[5 B 84T,
BB T EEE.

B *x &

AMDE K TRINTELS 1w T &, M3+6+ O THE
Ry s TU—bEIZY )y Ty b EEELTH
B Fy b ERHHET.

0

D S8t INTEL 2 &= M3+6 LIAtZ 288t
S NES HEC 20l N2 F HEZ ZO0IAA

0



NITROGON/HELIGON sEeERIES AM D

4.

ENGLISH

Please clean the surface of CPU before applying
the thermat grease, then apply the Thermal grease
evenly on CPU.

DEUTSCH

Reinigen Sie bitte die Oberflache der CPU
bevor Sie die Warmeleitpaste gleichmalig
auftragen.

FRANCAIS

Nettoyer la surface du CRU avant d'appliquer
la pate thermique, puis appliquer la pate
uniformément sur le CPU.

ESPANOL

Por favor, limpie la superficie del microprocesador
antes de aplicar la pasta térmica. Una vez limpio,
apliquela de manera uniforme sobre la CPU.

ITALIANO

Pulire la superficie della CPU prima di applicare
la pasta termica e quindi applicare pasta termica
in modo uniforme sulla CPU

PYCCKMA
Ha ouneHHyto noBepxHOCTL Rpoleccopa
PaBHOMEPHO HaHecuTe Tepmariacty.

& P32

BSREERIECPURTE

B *x &
YT ) REEDAT. CPUDREZFRIZ
LT, CPULISH—T LT Y REH—IZEVET,

|
M JelAS HI2D| M0l CPU S HAS
=ML J2IAE CPUN D2 HI2HAIR.



NITROGON/HELIGON sEeERIES

Please remove
before install

ENGLISH
Take off the film of CPU surface and
placeheat-sink on CPU.

DEUTSCH
Zjehen Sie die Schutzfolie des Kiihlers
ab und setzen Sie diesen auf die CPU.

FRANCAIS
Retirer le film plastique du coté CPU du
refroidisseur et le disposer sur le CPU.

ESPANOL
Quite el adhesivo protector de la base
del disipador y coléquelo sobre la CPU.

ITALIANO

Togliere la pellicoia dalla superficie della CPU

e collocare il dispersore di calore sulla CPU

AMD

PYCCKMA
CHUMUTE 3aLLMTHYIO [NACTUHKY C HKHER YacTu
pazauaTopa 1 ycTaHosuTe Kynep Ha npoLeccop.

4L

HiiE B A BE IEAMRGERE AR, AR A ECPURRRT.

A P32

i B ER IRABRIANGAE,  FRIG A SR IR ECPURR 8]

B *x &
CPURED 7 A LLERMNLT, E—F 2D %
CPULICERELFEY .

|
CPU EBIo| BES HJ{LiD $BE CPU
20 Z2MAIR



NITROGON/HELIGON sEeERIES

6.

ENGLISH
Install the crossbar through heat-sink and
lighten the screws on the both of clips.

DEUTSCH

Nehmen Sie den Querstrebe und setzen
Sie diesen wie im Bild angezeigt auf die

Oberseite des Kuhlers und verschrauben
Sie ihn fest auf beiden Clips.

FRANCAIS
Utiliser la barre transversale au milieu du
dissipateur et serrer les vis des deux cotés.

ESPANOL
Colocado el clip de montaje, atornille las roscas
en forma de T en los tornillos estriados.

ITALIANO
Installare la traversa attraverso il dissipatore e
stringere le viti su entrambi i dispositivi di fissaggio

AMD

PYCCKMA
MpoBeawTe Nnakkn Yepes ocHoBy paanaTtopa
1 3aKpenuTe BUHTaMu K 3aX1Mam.

X
ASBATEREIBMOARE, EHELIN MR R REE,
PRI SR B A 2B

L1208
AP ESTROAS , FERE AT A E,
FEL IR EEI T

B %A
E—FIUHEIZORRN—FA VR =)L
LThis, AADT Yy TOXRTEMDET .




NITROGON/HELIGON sEeERIES

1 L]

ENGLISH
Insert the fan clips into the holes of fan and
hook the fan set into the groove on the heat-sink.

DEUTSCH

Schieben Sie die Lufterclips in die entsprechenden
Offnungen und setzen Sie den Lifter in die
Vertiefung des Kiihlkorpers ein.

FRANCAIS

Insérez les crochets du ventilateur dans les
orifices de ce dernier, et accrochez I'ensemble
dans la rainure prévue a cet effet sur le dissipateur
thermique.

ESPANOL

Inserte los enganches del ventilador en los
agujeros del ventilador e inserte el conjunto
del ventilador en el receptaculo del disipador.

ITALIANO

Inserire i dispositivi di fissaggio della ventola
nei fori della ventola ed agganciare la ventola
nella scanalatura del dissipatore di calore.

FAN MOUNTING

PYCCKMA

BcTaBbTe KpenneHns Ans MoHTaxa BeHTUnsTopa
B OTBEPCTUSA, MMEIOLIMECS B HEM, U YCTaHOBUTE
6nok BeHTUNATOpa B Nase pagvuartopa.

ZRPX
5 R BAINHIMNEBILN, BRI
RS N

[0 8
BRBEANFHINRRILE, FHLMEN
B AP

B *x &
272Uy TEITFUORICEEL, E—
b EDEIZT T oY FEBIOAITET .

o

| ol N2
ol NPUAL.

00
k=
=
m
]




NITROGON/HELIGON sEeERIES

TWIN TOWER HEATSINK WITH UNBELIEVABLE COOLING POWER

2.

ENGLISH
Connect the fan connector with the
motherboard. Instaltation completed

DEUTSCH
Verbinden Sie den Lifteranschluss mit
dem Mainboard. Die Installation ist fertig.

FRANCAIS
Connecter la prise du ventilateur sur la carte
meére Mission accomplie, installaticn terminée.

ESPANOL
Conecte el ventilador a la placa base y la
instalacién se habra completado.

ITALIANO

Collegare il connettore della ventola alla
scheda madre. L'installazione & completata

FAN MOUNTING

PYCCKMA
MoakniounTe BEHNTNATOP K MAaTEPUHCKON nnate.
YcTaHoka 3aBepuieHa.

e

HEE TR BN TECE, SERRE.

i P32

BB TFRAERIERHE OIS, SelEE.

B *x &
IF7 AR BEIF— FIZEHLETS.
INTA R P—LEETTY,




Warranty Information

This product has a limited 1 year warranty in North America, Europe, and Australia.
For information on warranty periods in other regions, please contact your reseller or SiiverStone authorized distributor.

Warr

y terms & conditions

1. Product component defects or damages resulted from defective production is covered under warranty.

Defects or damages with the following conditions will be fixed or repfaced under SitverStone Technology’s jurisdiction.

a) Usage in accordance with instructions provided in this manual, with no misuse, overuse, or other inappropriate actions.

b) Damage not caused by natural disaster (thunder, fire, earthquake, flood, salt, wind, insect, animals, etc...)

c) Product is not disassembled, modified, or fixed. Components not disassembled or replaced.

d) Warranty mark/stickers are not removed or broken.

Loss or damages resulted from conditions other than ones listed above are not covered under warranty.

2. Under warranty, SilverStone Technology’s maximum liability is limited to the current market value for the product (depreciated value, excluding
shipping, handling, and other fees). SilverStone Technolagy is not responsible for other damages or loss associated with the use of product.

3. Under warranty, SilverStone Technology is obligated to repair or replace its defective products. Under no circumstances will SilverStone
Technology be liable for damages in connection with the sale, purchase, or use including but not limited to loss of data, loss of business, loss of
profits, loss of use of the product or incidental or consequential damage whether or not foreseeable and whether or not based on breach of warranty,
contract or negligence, even if SilverStone Technology has been advised of the possibility of such damages.

4. Warranty covers only the original purchaser through authorized SilverStone distributors and resellers and is not transferable to a second hand
purchaser.

6. If a problem develops during the warranty period, please contact your retailer/reselier/SilverStone authorized distributors or SilverStone
http://www.silverstonetek.com.
Please note that: (i) You must provide proof of original purchase of the product by a dated itemized receipt; (ii) You shall bear the cost of shipping
(or otherwise transporting) the product to SilverStone authorized distrikutors. SilverStone authorized distributors will bear the cost of shipping
(or otherwise transporting) the product back to you after completing the warranty service; (iii) Before you send the product, you must be issued a
Return Merchandise Authorization (“RMA”) number from SilverStone. Updated warranty information will be posted on SilverStone’s official website.
Please visit http://www.silverstonetek.com for the latest updates.




Additional info & contacts

For North America (usasupport@silverstonetek.com)

SilverStone Technology in North America may repair or replace defective product with refurbished product that is not new but has been functionally tested.
Replacement product will be warranted for remainder of the warranty period or thirty days, whichever is longer. All power supplies should be sent
back to the place of purchase if it is within 30 days of purchase, after 30 days, customers need to initiate RMA procedure with SilverStone Technology
in USA by first downloading the “USA RMA form for end-users” form from the below link and follow its instructions.
http://silverstonetek.com/contactus.php

For Australia only (support@silverstonetek.com)

Our goods come with guarantees that cannot be excluded under the Australian Consumer Law.

You are entitled to a replacement or refund for a major failure and for compensation for any other reasonably foreseeable loss or damage.

You are also entitled to have the goods repaired or replaced if the goods fail to be of acceptable quality and the failure does not amount to a major failure.
Please refer to above “Warranty terms & conditions” for further warranty details.

SilverStone Technology Co., Ltd. 12F No. 168 Jiankang Rd., Zhonghe Dist., New Taipei City 235 Taiwan R.O.C. + 886-2-8228-1238
(standard international call charges apply)

For Europe (support.eu@silverstonetek.de)
For all other regions (support@silverstonetek.corn)




SilverStone Technology Co., Ltd.

www.silverstonetek.com

support @silverstonetek.com
Issue date: June, 2012
NO. G11216070



	Manual HE01-V1-封面
	Manual HE01-V1-P1
	Manual HE01-V1-P2
	Manual HE01-V1-P3
	Manual HE01-V1-P4
	Manual HE01-V1-P5
	Manual HE01-V1-P6
	Manual HE01-V1-P7
	Manual HE01-V1-P8
	Manual HE01-V1-P9
	Manual HE01-V1-P10
	Manual HE01-V1-P11
	Manual HE01-V1-P12
	Manual HE01-V1-P13
	Manual HE01-V1-P14
	Manual HE01-V1-P15
	Manual HE01-V1-P16
	Manual HE01-V1-P17
	Manual HE01-V1-P18
	Manual HE01-V1-封底

